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1 HRITA 0.03  |mg/1 |<0.0003:<0.0003|<0. 0003} <0. 0003 <0. 0003; <0. 0003 <€0.0003 { <0.0003 { <0.0003
2 ¥TV 1 mg/1 | <0.1 § <0.1 | <0.1 § <0.1 | <0.1 i <0.1 <0. 1 <0. 1 <0. 1
3 HREY A 1 mg/1 €0.1 €0.1 €0.1 <0.1 €0.1 €0.1 <0.1 <0.1 <0.1
4 & 0.1 mg/1 | <0.005; <0.005 | <0.005 i <0. 005 | <0.005 ;i <0.005 <0.005 § <0.005 i <0.005
5 Afliz v 0.2 mg/1 | <0.002 % <0.002 | <0.002 i <0.002 | <0.002; <0.002 €0.002 i <0.002 i <0.002
6 t# 0.1 mg/1 | 0.002 i 0.002 | 0.002 i 0.001 | 0.002 i <0.001 0. 002 0.002 { <0.001
g | 7 FKER 0.005 |mg/1 |<0.0005:<0.0005|<0. 0005} <0. 0005 <0. 0005 <0. 0005 <€0.0005 § <0.0005 { <0.0005
8 TF K [ |mg/1 | <0.0005: <0. 0005| <0. 0005} <0. 0005 <0. 0005 0. 0005 <€0.0005 § <0.0005 { <0.0005
9 PCB 0.003 |mg/1 [<0.0005: <0.0005) <0. 0005; <0. 0005 <0. 0005 <0. 0005 <€0.0005 § <0.0005 { <0.0005
10 PZ7umrsy (0.2 mg/1 | <0.002 % <0.002 | <0.002 i <0.002 | <0.002; <0.002 €0.002 i <0.002 i <0.002
11 UL 0.02  |mg/1 |<0.0002:<0.0002|<0. 0002} <0. 0002 <0. 0002 <0. 0002 <€0.0002 § <0.0002 { <0.0002
ge|12 1, 2=y 7mezpy 10,04 |mg/1 |<0.0004: <0. 0004 <0. 0004 <0. 0004| <0. 0004 <0. 0004 <€0.0004 § <0.0004 { <0.0004
13 1,1-V mnzfvy |1 mg/1 | <0.01 i €0.01 | €0.01 i <0.01 | <0.01 i <0.01 <0. 01 <0. 01 <0. 01
14 ya-1, 2= Junxfiy|0. 4 mg/1 | <0.004; <0.004 | <0.004 i <0.004 | <0.004 i <0.004 €0.004 i <0.004 i <0.004
15 1,1, 1=p)7owezhy |3 mg/1 | <0. 0005; <0. 0005] <0. 0005 <0. 0005 <0. 0005 <0. 0005 <€0.0005 § <0.0005 { <0.0005
16 1,1,2-M)7eexpy 10.06  [mg/1 [<0.0006} <0. 0006 <0. 0006 <0. 0006] <0. 0006 <0. 0006 <€0.0006 | <0.0006 | <0.0006
15| 17 }M/mefiy 0.1 mg/1 | <0.002 <0.002 | <0.002 i <0.002 | <0.002} <0. 002 €0.002 i <0.002 i <0.002
18 Fb7 unzfly 0.1 mg/1 [<0. 0005 <0. 0005] <0. 0005 <0. 0005| <0. 0005} <0. 0005 <€0.0005 § <0.0005 { <0.0005
19 1,3-¥"7mn7 oA" 2 [0.02  |mg/1 [<0.0002; <0.0002] €0. 0002} <0. 0002 <0. 0002 <0. 0002 <€0.0002 § €0.0002 § <0.0002
20 F7 T A 0.06  |mg/1 |<0.0006:<0.0006|<0. 0006} <0. 0006 <0. 0006 <0. 0006 <€0.0006 | <0.0006 | <0.0006
21 V=V 0.03  |mg/1 |<0.0003:<0.0003|<0. 0003} <0. 0003 <0. 0003 <0. 0003 <€0.0003 { <0.0003 { <0.0003
g |22 AR HAT (0.2 mg/1 | <0.002 % <0.002 | <0.002 i <0.002 | <0.002: <0.002 €0.002 i <0.002 i <0.002
23 NPy 0.1 mg/1 | <0.001% <0.001 | <0.001 § <0.001 | <0.001 ;i <0.001 €0.001 i <0.001 i <0.001
24 LY 0.1 mg/1 | <0.001% <€0.001 | <0.001 § <0.001 | <0.001 ;i <0.001 €0.001 i <0.001 i <0.001
25 10 mg/1 0.1 <0. 1 0.1 0.1 [ <0.1 § <0.1 0.1 0.1 €0. 1
26 8 mg/1 0.1 0.1 | <o0.1 0.1 <0. 1 0.1 0.1 0.1 <€0. 1
27 1,4~V #3¥ 0.5 mg/1 | <0.005 <0.005 | <0. 005} <0. 005 | <0. 005 <0.005 €0.005 i <0.005 i <0.005
28 NH4-N, NO2-N, N03-N[100 mg/1 5.8 5.6 5.6 3.6 5.8 5.1 5.2 5.8 3.6
1 pH .8~8.6|— 6.7 7.2 7.4 6.7 6.9 6.7 6.9 7.4 6.7
4|2 BOD 20 mg/1 1.1 1.1 0.9 1.2 0.9 0.8 1.0 1.2 0.8
3 COD 20 mg/1 7.8 6.6 6.1 5.3 6.2 5.8 6.3 7.8 5.3
g4 S8 70 mg/1 1 1 1 1 2 2 1 2 1
5 KME 800 CFU/ml 0 0 0 0 0 0 0 0 0
=6 T—N 120 mg/1 6.8 6.3 5.9 3.8 6.9 5.7 5.9 6.9 3.8
7 T—P 16 mg/1 0.8 1.4 1.0 0.5 1.2 0.2 0.9 1.4 0.2
g |8 SLiE 5 mg/l | <0.5 i <0.5 | <0.5 i <0.5 | <0.5 i <0.5 €0.5 €0.5 €0.5
9 EhREY IS 30 mg/1 €0.5 0.5 | <0.5 i <0.5 [ <0.5 i <0.5 <0.5 <0.5 <0.5
E(10 7=/ =N |5 mg/1 | <0.1 i <0.1 | <0.1 § <0.1 | <0.1 i <0.1 €0. 1 €0. 1 €0. 1
11 4 3 mg/1 | €0.02 i €0.02 | <0.02 i <0.02 | <0.02 i <0.02 <0. 02 <0. 02 <0. 02
g |12 #fn 2 mg/1 | 0.03 i 0.04 | 0.03 { 0.02 | 0.06 i 0.03 0.04 0. 06 0. 02
13 TRAFIESR 10 mg/1 | <0.1 i <0.1 | <0.1 § <0.1 | <0.1 i <0.1 €0. 1 €0. 1 €0. 1
14 B~ oA |10 mg/1 | <0.1 i <0.1 | <0.1 § <0.1 | <0.1 i <0.1 €0. 1 €0. 1 €0. 1
15 &7 1Ak 2 mg/1 | <0.04 i <0.04 | <0.04 i <0.04 | <0.04 i <0.04 <0. 04 <0. 04 <0. 04
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